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1. Ut forat 9R i arelt gequl weaTq

&, o woft o e € 2
(a) 625
(b) 400
() 196
@d 120

2. iz’C(n,r) fras R g 7
r=0

(@ 2"
(b) 3"
(c) 22
(d) 3%

3.3f2 = ‘MATHEMATICS’ & H&RY &
faftra =l it w sy § g
frr smo, @ o= A W feam w=
(wrd= a1 feds) €, it C 8 wRY B
T WYH U A TEA A § ?
(a) 302400
(b) 403600
(€) 907200

(d) 1814400

4. Frafafea w9t w faar 6ifso .

1.9 f, ZxZ &1 & SwEgeaa R
St f={Gy, x-y) x,y € Z} T
sfafia @, ML ZAZR @
H ®

2.uf&f,NxNa:rQaa3waﬂw%
S f={(, x+y); x,y € N} T
Tfafia 8, A ANINR &
F ?
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.'HRﬁTai A=

IEE #  FH-91/FH-8 F9H 98
R/¥?

(a) Fad 1

(b) e 2

() 13R23E!

(d A 1,782

a) a2 a3
aj) Gy axn
a3 a4z ass

HIT | AR a13=yz, ap =2z, az3=xy
3ﬁt a3, as3, Asy ﬁ G"I’Hﬂﬁﬁ A
(Z—y), (Z_x)9 (y'—x) %v éﬁ A &1 HHE
R ?

@ GC-»z-x)(y-x)

®) - -2)x-2)

© -z-x)y-z)x+y+2)

(d) ytyz+z)x+y+2z)

R @R

| SUR 0

. afe A=[0 cos@ sinﬂ] g

0 sin@ -cos@

Ffeffm A asm-aadt € 7
1. A+ adjd T LA A% &
2. A7\ + adjA TF L AR ©
3. A— A U I g ©
i few T e w1 wERT W FE W
gfg

(a) Fae 132

(b) Fae 233

(c) Fad 133

(d) 1,23R3



1. How many four-digit natural numbers Which of the statements given above

are there such that all of the digits are is/are correct ?

odd ?
(a) 1 only

(a) 625 () 2 only

(b) 400 (c) Both 1 and 2

(c) 196 (d) Neither 1 nor 2

d) 120

@ 5. Consider the determinant

= : a
2. What is 32" C(n,) equal to? PO e et |
i 431 a3 A4z

(a) i If AQ13=)z, A3 =2ZX, A33 =Xy and the
minors of a3, a,3, @33 are respectively

(b) 3" (z-y), (z=x), (¥ —x) then what is the

© 2 value of A ?

e @ E-y)-x)0-x)
®) G-y)y-2)x-2)

3. If different permutations of the letters
of the word ‘MATHEMATICS’ are R 25 it R
listed as in a dictionary, how many d) (ytyz+zx)(x+y+2)

words (with or without meaning) are
there in the list before the first word

B 6. If A =[(1) 0026 sige ], then which
(a) 302400 0 sinf@ -cosf

(b) 403600 of the following are correct ?

(c) 907200 1. A+ adjA is a null matrix

) 1814400 2. A7 + adjA is a null matrix

3. A- A" is a null matrix

4. Consider the following statements : Select the correct answer using the

1. If f is the subset of Z x Z defined code given below :
by f= {(xys X=y); X,y € Z}. then (a) 1 and 2 only
fis a function from Z to Z.

2. If f'is the subset of N x N defined
by f= {(x, x +); x,y € N}, then (- ke
fis a function from N to MN. (d) 1,2 and 3

(b) 2 and 3 only
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7. X TH I x3FE F AR R, ¥ &

2 x 3 IfE o Mg § AR Z W 3 x2
Ffe F1 Jrege 8, O Frafafas & @
FH-4 F9T qe § ?
1. ZV)X & 9 wfafeegt amn =t
R R
2. Y(XZ) @& 4 wfafeat amen ==+t
AR ?

3. X(vZ) afcafya =& 2

i fiu U Fe 1 W@ W ad SW
fg

(a) Faet13R2

(b) *a« 23R 3

(c) Faa 133

@ 1,23R3

. fram fooma wfieott & fog w@t &
TRI%e, Fell & UG & qaK € 7
(@ o

®) 1

(©) 2

(d) FFad: FF

. frrfafaa w99t ® fmr it .

1. V2 3R +5 & = i asft i
TS H ead @& AEd
w=aa R |

2. 100 & B¢ w3t faww quiwt =
T & IR wg=a © |

IE # A FH-A1/FE-¥ FAT G

/%7

(a) a1

(b) Faw 2

(c) 13K 23t

(d A 1L,TE2
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10. frafoafaa w99t w® fer fifso .

11.

12.

1.24+4+6+..+2n=n’+n

2. ATF nP+n+4l VAS gAY
e n & fog W@ o s
Ten an @

I # | HA-91/F-8 FI9 @l
/27

(a) Fae 1

(b) &aw 2

(c) 132t

(d TWdL,T@2

wH A p, ¢ (p > g), Teoma wfiamor
X+bx+c=0 % ¥ €, @& c>0

RI1AR P +¢2-11pg=08, A p—g
fras suaR 8 ?

@ 3Ve
(b) 3c
© 9V
) 9

12 9SS AT UF GHARHS & I
g g g9 = =W @ g, Ped vde

Ao & FeE 1 em @ ?
@@ 1++2cm
(b) 2++2cm
(€) 2++3cem
(d 3+3cm



7. If X is a matrix of order 3 x3, Yis a

matrix of order 2 x 3 and Z is a matrix
of order 3 x2, then which of the
following are correct ?

1. (ZY)X is a square matrix having
9 entries.

2. Y(XZ) is a square matrix having
4 entries.

3. X(YZ) is not defined.

Select the correct answer using the
code given below :

(a) 1 and 2 only
(b) 2 and 3 only
(¢) 1 and 3 only
(d 1,2 and 3

8. For how many quadratic equations, the

sum of roots is equal to the product of
roots ?

(@ 0
(b) 1
() 2
(d) Infinitely many

. Consider the following statements :
1. The set of all irrational numbers

between /2 and /5 is an infinite
set.

2. The set of all odd integers less
than 100 is a finite set.

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

10. Consider the following statements :

1.244+6+..+2n=n*+n

2. The expression n? + n + 41 always
gives a prime number for every
natural number »

Which of the above statements is/are
correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

11. Let p,q (p>q) be the roots of the

quadratic equation x*+bx+c=0
where ¢>0. If p*+¢*-1lpg=0,
then what is p — ¢ equal to ?

(@) 3Ve
(b) 3c

(c) 9Ve
(d) 9¢

12. What is the diameter of a circle

inscribed in a regular polygon of 12
sides, each of length 1 cm ?

(@ 1++2cm
() 2++2cm
(c) 2+V3cm
(d 3+/3cm
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13. 9 #if 4 = {7, 8, 9, 10, 11, 12, 13, w™ W\ (03) wE F forw feafafee w
14,15, 16} R AR f: A > N, f(x)=x%  f=r Hifta .
WEAH IV @S, TR qRwia

R 1 /% oRex # ey srama € 2 A R 2 }"‘::::gqg VI
(@ 4
®) 5 16. z T HT9TH FT 8 ?
) 6
1
@ 7 (€))
2
14. 99 HifoC R, N ¥ N TF §a8 & i
R={(x,y):x,y € N #R x2=)3} TR (c) 1+sin0
fenfia | feafafea 3 @ aF-3 BBy
i ¥ 7 (R
l.'ﬂ“&xeNaiﬁﬂ(x,x)eR%
2. xy)eR=>(,x) €R 17. F0 6 71 } A1fh z g Aty € ?
3. (x,y) € RIAR i
(,2)eR=(x,2) € R (@ 5
T g T e T oW W @ W Bk
TP : m
(a) FHad 1 AR 2 (©) nn
(b) Fae 23R 3
d) ¥ 2
(c) Fad 133 (). g
@ 1,23%3 el n T it @
15. frafafas w e 6ifSo . 18. IV 0 F1 & A% 2 Yga: Affa
1. ANB=ANC=>B=C g7
2. AUB=AUC=>B=C @ %
a) 1%
e # A W-E /AR R/
€7 (b) (2n+Dr
() ¥ 1 ¢
) ¥ 2 (@ np
© 13K 22t (9): Zn
@d FAX1L,T82 SRl n T qUIieh ©
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13. Let A= {7, 8,9, 10, 11, 12, 13; 14, 15, Consider the following for the next three
16} and let f: 4 - N be defined by (03) items that follow :
f(x) =the highest prime factor of x.

How many elements are there in the Let z=.1_."'_‘:5:Lg where i = /-1
range of f? 1-isin
@) 4 16, What is the miodulus of z?
®) 5 :
@ 7 ®) 2
14. Let R be a relation from N to N defined (c) 1+sin%0
by R={(x,y):x,y € N and x*=)’}. g
Which of the following are not @ 1+sin°6
correct ? 1-sin’0

l.(x,x)eRforallxe N
2. (x,») eR=>(y,x) €R

3. (x,y) € Rand
(r,2) e R=>(x,2) € R (a) %

17. What is angle 0 such that z is purely
real ?

Select the correct answer using the
code given below : (b) @n+Dm

(@) 1 and 2 only .
(b) 2 and 3 only

(c) 1 and 3 only

(d 1,2 and 3

(c) nx
(d) 2am only

where n is an integer

18. What is angle 0 such that z i I
15. Consider the following : 1§ e, z is purely

imaginary ?
1. ANB=ANC=>B=C
nm

2. AUB=AUC=B=C @® 7
Which of the above is/are correct ? ®) @n+)m
(a) 1 only 2
(b) 2 only (©) nx
(c) Both 1 and 2 (d) 2n=m
(d) Neither 1 nor 2 where n is an integer
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T A= (03) vl ¥ v fmfafea « W A (03) v & fou fafafas w
ﬁanaﬁﬁrq: ﬁanaﬁﬁq

o i P Rl adam o 3 4% (2 + )’ F fewe WeR R fer fifvrg
W n GATHS UGl 1 AR © | WA AT

QO et o7 adam ek 3G B F W 22. 3% 13 3R 16 3 o7k TR & A g F
gATHE USl W ANEA € | WE e AE TR ?
P:Q0=(5n+4):(9n+6)% |

_ (@ p
19. A% W99 9% & B F WIH UG ¥ U
R (b) 9%
(b) 2/5 _
) 3/4 @ p?
(d) 3/5

23. WER # WeA UGT o VNI S JITT T

20. 7% 10¥ T3t 1 T 1R ? OIS W )

(a) 11729 (@ pg
(b) 22/49 () p/q
(c) 33/59 © 4p/5q
(d) 44/69

(d) 1/(pg)

21. 3 d, 4 1 9 3K & IR D, B a9
IR ©, ar Frafafaa § ¥ S9-ar aea 24. foFm wd W x2 3R x4 3 T SR § 7
el BT ? '

@ p:q=7:2
(@) D>d
b) D<d (b) Pzzq2=7:2
(c) 7D > 12d (©) p:gq=2:7
(d) S | & w13 7R @ pPig®=2:7
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Consider the following for the next three
(03) items that follow :

Let P be the sum of first n positive terms of
an increasing arithmetic progression 4. Let
Q be the sum of first n positive terms of
another increasing arithmetic progression B.
Let P:Q=(5n+4):(9n+6)

19. What is the ratio of the first term of 4
to that of B ?

@) 1/3
(b) 2/5
(c) 3/4

(d) 3/5

20. What is the ratio of their 10th terms ?
(a) 1129
(b) 22/49
(c) 33/59

(d) 44/69

21. If d is the common difference of 4, and
D is the common difference of B, then
which one of the following is always
correct ?

(@ D>d
b) D<d
(c) 7D > 12d

(d) None of the above

Consider the following for the next three
(03) items that follow :

Consider the binomial expansion of
(p+aqx)°:

22. What is the value of g if the

coefficients of x> and x°® are equal ?
@ p

(®) 9
© 3

@ p?

23. What is the ratio of the coefficients of

middle terms in the expansion (when
expanded in ascending powers of x) ?

(@) pq
(®b) p/q
(©) 4p/5q

(d) 1/(pg)

24. Under what condition the coefficients

of x2 and x* are equal ?
@ p:g=7:2
b) PP:q?=7:2
© p:g=2:7
@ pP:g*=2:7

A - DFRG-S-MTH
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e dm (03) vt F oo feafafaa F W (03) v & fou Feafafea w
ﬁ'ﬂﬁiﬁﬁﬂz ! ﬁﬂﬂ?ﬁﬁm

9% ‘QUESTION’ R fe=mr §ifsro - AM T A, AR 4 W ARA §, e

ap a2 a3
25. 4 &R AT VF fopaw arde A e A=[a21 ay, a23] W0,
Y& §ATC ST Foha © o & was A asz Az as;
A &R (vowel) 3R G =9 (consonant) FAN: ayy, ayy, 13  TEUNS § |
7l ?

28. a),Cyy +a;,Cp; +ay3C)

(a) 36 et
(b) 144 i
(c) 576 e
(d) 864 © A
26. 8 IERT a1 W@ foraw wmde o1 frde d -A
G FAIC ST v © Tors =9 3R &) _
TSGR Ml W 31 & 7 ' 29. :;211511;1[ ;:%C;z +ay,C3
(a) 288 iy
(b) 576 e
(c) 1152 Y
(d) 2304 aia

27. 8 FER A W w1 Frds

a; az apn

e TG S bt § o it siom o 30. |ay; ay; a3 & A TR ?
g I ' ? & dhy O

(@) 5760 @@ 0

(b) 2880 () 1

(c) 1440 ) A

(@ 720 _ d -A
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Consider the following for the next three Consider the following for the next three
(03) items that follow : (03) items that follow :

Comiion e woni. ‘QUESTION” - Let A be the determinant of a matrix 4,

ay app a3
25. How many 4-letter words each qf two where A=|ay, ay ay |and Cyy, Cy, Cia
vowels and two consonants with or Pse
31 43 a4z

without meaning, can be formed ? :
be the cofactors of a,y, a,,, a;; respectively.

(a) 36
: 28. What is the value of
(b) 144 aCpy + apCip + a3C3?
(c) 576 : (@ 0
d) 864 (b) 1

(c) A
26. How many 8-letter words with or
without meaning, can be formed such d -A
that consonants and vowels occupy

alternate positions ? 3
29. What is the value of

(a) 288 aCyy + apCiy + apCiy ?
) 576 e
1
() 1152 ®)
(c) A
(d) 2304
(d -A
27. How many 8-letter words with or
without meaning, can be formed so a az ay
that all consonants are together ? 30. What is the value of | ay; a3; a3 |?
a»n axn a;
(a) 5760
(@ 0
(b) 2880 i
(c) 1440 () A
(d) 720 d) -A
11 A - DFRG-S-MTH
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e @ (03) vl & fog feafafes w
fr $ifog -

ﬂﬁﬁﬁlﬂf(x)‘!ﬂ?m%?hmﬁ x,yeN
ST f(x +y) =f(0) f () T T8 THR T
warefF r(1)=2%:

31.afg fjf(x)=2o44%,a‘rnmmw

x=3

?7?

(@) 8
®) 9
© 10

@ 11

5
32. Y f(2x-1) formds s ® 2

x=1
(a) 341
(b) 682
(c) 1023

(d) 1364

33. i‘,z" f(x) forass aaR R ?

x=1 g
@ 1365
®) 2730
(©) 4024
() 5460

DFRG-S-MTH - A
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I @ (03) wH & oo frafafea w
ﬁiﬂﬁﬁm:

s favafearem ¥ sedheaid, peaid 3R
Iidlaid § 9gw woM fog | ¥ x Bl
(x < 6) @ T Wl § e et 3R FA 15x
JET B UGH B | 5x 95 Ahedid #,

(4x + 15) 5% Feaid | AR (x +25) 9SH
Tietare & fog mq |

34, Tt & 1 Qe § A 3F QA
9es firet ?

(a) 30-4x

(b) 35-7x

() 40-7x

(d) 45-5x

A dRi e A A FA D
qal # e Bt ?

(a) 30— 6x

35.

(b) 35-6x
(c) 40-5x
(d) 40-6x

frert 1 AT A H A BF T QA A
e fier ?

36.

(@) 21x-40
(b) 21x-35
(c) 20x-35
(d) 20x-25



Consider the following for the next three
(03) items that follow :

Let f(x) be a function satisfying f(x +y) =
f(x)f(y) for all x,y € N such that f(1)=2:

n
31.If Y f(x)=2044, then what is the

=2
value of n ?

(a) 8

(b) 9

(c) 10

@ 11

32. What is 25‘, f(2x—1) equal to ?
x=1

(a) 341

(b) 682

(c) 1023

(d) 1364

6
33. What is )2 f(x) equal to ?

x=1
(a) 1365
(b) 2730
(c) 4024

(d) 5460

13

Consider the following for the next three
(03) items that follow :

A university awarded medals in basket ball,
football and volleyball. Only x students
(x < 6) got medal in all the three sports and
the medals went to a total of 15x students.
It awarded 5x medals in basketball,

(4x + 15) medals in football and (x+25)
medals in volleyball.

34. How many received medals in exactly
two of the three sports ?

(a) 30-4x
(b) 35-7x
(c) 40-7x

(d) 45-5x

35. How many received medals in at least
two of three sports ?

(a) 30-6x
(b) 35-6x
(c) 40-5x

(d) 40-6x

36. How many received medals in exactly
one of three sports ?

(a) 21x-40
(b) 21x-35
(c) 20x-35
(d) 20x-25

A - DFRG-S-MTH



I dm (03) et & foo Feafafes w 39. A Ft RAE H AW 7\ =g ?
fommr difsg

@ ;
0 sin’6 cos’6 ;
A AT 4=|cos’® 0 sin?0| 3K (b) 2
sin?@ cos’@ 0 3
: ) 5
A=P+ QR Ve P& wafia smege § 9K 3
O fawm-wwfia smege R | @ 1 |
37. P e s @ 7 | e (03) et & fog freafafen w
R fifse .
(0 1/2 1/2
(@ |1V2 0 1»’2] ABC & PR s[@e el 4B =16m,
it et BC=10m 3R CA=10m B | 551 4B &
(011 weafag | & dudree (foseft-a< @)
®) |[101 fem 2 | 78 <udie ofid B W 45° & Fr
KI 10 ol EIR?IT%I
(0 -1 1 e :
(c) cos260| 1 0 —1] 4. @® 6m7£fﬁ'l’§'°l‘ﬂ%?
-1 1 0 ol \
(0 =172 1/2 (c) 8m
(d) cos26| 1/2 0 -1/2 (d 9m
\-1/2 172 0
41. Siﬁ, foFa R & ?
38. O forass SR © 7 @ 17m
(0 12 12 50
@ (12 0 12 9 =0
(172 12 0 © m
(a1 1 C)) I?:Sm
() |1 01
(110 42. cos A + cos B + cos C foras sreR © 7
Bt @ :1
(c) cos26| 1 0 -1 41
| -11 0 ® 7
37
=8 e © 35
(d) cos26| 1/2 0 -1/2 - 23
: 2 e @ 53
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Consider the following for the next three
(03) items that follow :

0 sin’0 cos’O
Let A=|cos’@ 0 sin’0 | and
sin’@ cos’@ 0
A =P+ Q where P is symmetric matrix and
Q is skew-symmetric matrix.
37. What is P equal to ?

(0 12 12
@ (172 0 112
12 112 0

(011
M) {1 01
(VY

0 -1 1
©) cosze[l 0 -1]

-11 0

0 =172 172
-1/2 V2 0

@ cosze[ 12 0 ~12

38. What is Q equal to ?
(0 172 1/2}

@ (12 0 12
12 12 0

(011
® |[101
(3:1.0

0 -1 1
(c) cos26l 1 0 -1
-1'1 0

0 -1/2 12
(d) cos26| 1/2 0 -1/2

-2 V2. %

39. What is the minimum value of
determinant of 4 ?

o —

(a)

(b)

©
d

= AW N

Consider the following for the next three
(03) items that follow :

ABC is a triangular plot with 4B =16 m,
BC=10m and CA=10m. A lamp post is
situated at the middle point of the side AB.
The lamp post subtends an angle 45° at the
vertex B.

40. What is the height of the lamp post ?
(a 6m
(®) 7m
(c) 8m
(d 9m
.. _AB 9
41. What is snC equal to ?
(@ 17m
b) 30
(b) i

(©) %m

(d) 16m

42. What is cos 4 +cos B +cosC equal to ? |
(@ 1

) 35

© 3

@ 33
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e @ (03) vl F fou fFeafafae w
ﬁﬂﬁﬁﬁm:

T g gt HR & gfew # @ fag PR 0
ENTRAMFAER I AR F IR A
PR xR QR @y (x>y) I PAR Q
%:ﬂm%aﬁé%waﬁwm 15° 3R
75°% |

43, yfie & HAR 1 oid Rt Iemg W
R?

®
©
@ 52

44.7f AR T #fow ¥ FFE O ® @
cotd ferash SRR & 7

V3(x-y)

xX+y

V3(x-y)

x+y

(a 2+

b 2-

(@ 243362
x-y
V3(x+y)

(4 (220

DFRG-S-MTH - A

16

45, HAR &t v | g ?

Jl+{2+ﬁf+y)}2

(a)

2J_

®) H’Ju z-‘ﬁ("“’)}z

©) ELZJH

(b) L ‘\/3
(c) 2
(d -2

Sm T
47. cos( 17)+cos[ 17)+

2 cos( lll;r ) cos( -l’%)
o HE TR ?
(@ 0
(®) 1

(c) 4 cos( ?’; ) cos(%)

d 4 cos( lll;r ) cos(%)



Consider the following for the next three
(03) items that follow :

There are two points P and Q due south of
a leaning tower, which leans towards north.
P is at a distance x and Q is at a distance y
from the foot of the tower (x>y). The
angles of elevation of the top of the tower
from P and Q are 15° and 75° respectively.

43. At what height is the top of the tower
above the ground level ?

et
(a) -

o)

x-y
(b) a3

o e

@ =%

44. If 0 is the inclination of the tower to
the horizontal, then what is cotf equal
to?

V3(x-y)

(@ 2+ ¥

_A3(x-y)

® 2 x+y

© 24364
x=y

V3(x+y)

@3-S

17

45. What is the length of the tower ?

x=y V3(x+y)
(a) mJl‘*‘{z X—y }

46. What is the value of cosec( 73”) ?

(@) -\%

R 5
W
(€ 2
(d) -2

47. What is the value of

Sn n
cos(17)+cos(17)+
liz ) 9
2005( 17)(:05(17) 7
(a) 0

(®) 1

(c) 4 cos(%) cos( i 7)

(d) 4 cos(—lili) cos( 1 7)

A - DFRG-S-MTH
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48. tan(?’si) FAA TR ?

(@ v2-1
(b) V2+1
) 1-2
@ —(¥2+1)
49. tan~'cot(cosec™12) ford awraR 7

@ %

n
®) %
© %

(1
@ 3

50. Pt ABC &, a=4, b=3,c=2% |

cos3C fras aqeR © 7

(@)

_I—'
= RIS

(b)

P
Il
oo

(©

e B

(d)
51. c0s36° — cos72° feradh sRTeR @ 7
@ -‘25

(b) *%

DFRG-S-MTH - A

18

© 3

@ -3

52. 9% secx =23 ¥ ol x MY wgafer ¥

fRatar tan x +sinx & {H T8 ?

625
(a) 168

® -3

625
(c) 168

@ 22

53. tan?165° + cot?165° T W ¥ § ?

(@ 7

(b) 14
(©) 43
d 83

54. sin(Zmr + -5£] sin(bm - —Sﬁ) 9 HHAH

6
M, T neZ B?

6

@ -

Blw A=

(b)

©

W B

(d)



48.

49.

1.

What is the value of tan(is’i) g © 1

@ Vv2-1 @ -3
(b) V2+1 o
© 1-42 52. If secx =27 and x lies in the fourth
quadrant, then what is the value of
d _(\EH) tanx +sinx ?
@ -2
What is tan"!cot(cosec™!2) equal to ? 168
@ % ®) -2
625
® & © o8
343
o5 @ %oo
@ = 53. What is the value of
3 tan?165° + cot?165° ?
. e (@ 7
. In a triangle ABC, a=4, b=3, c=2.
What is cos3C equal to ? (b) 14
® A (c) 43
128 @ 83
11
®) 133 54. What is the value of
7 sin(2mr +'§£) sin(2rm - 5—“) ,
(c) 7 6 6
where n € Z?
11 '
d et
e @ -1
What is cos36° — cos72° equal to ? o)
® =3
\5
(a) % @ (©) %
® -3 @ 3
19 A - DFRG-S-MTH
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SS.

56.

57.

Tfg 1+2(sin x + cos x)(sinx - cos x)=0
®, & 0<x<360°%, A x foreat 7

qafag ¥ [ERA Al 99 x| R
gaTRa faam & 75° % @ ) g g
W & ued # feafafes sl w

farer difSrg -
1.%@1,ﬁ§(1,-£:17_5)%ﬂaﬁﬁ%|
2. @1 Pfa: oW R e sty #
e

IH # A HA-6T /- YT FE

R/%?

(a) ¥ 1

(b) Haw 2

(c) 1323

(d TA 1,782

afe P(3, 4) &t & ¥ & w W@r-w2
1 7eg fag ® A 9@ W@ o wfewr w@
27

(@) 3x+4y-25=0

(b) 4x+3y-24=0

() 4x-3y=0

(d) 3x-4+7=0

DFRG-S-MTH - A

20

58. 8 cm ¥ 4 U& wWatg Py ABC

59.

F YR AB, y-319 W 30 TFR & &

T 4B %1 weafag, Hefig w # ok B,
Tefag & IR @@ 18, 0)F ™A
et R W AC F Wi @1 Hw
qHIH T § 7

(@) x-V3y-8=0
(b) x+V3y-8=0
©) Vx+y-8V3=0
(@) V3x-y-8/3=0

Hafag & R ar IR Fduie sret
W 4 AR 6 HATCHS @S A qT
Fa & 3% e @ w fRm @, 7' @
g7

(@ 2x-y+1=0

(b) 3x-2y-1=0

() 3x-4y+6=0

(d) 2x+3y-26=0

. T qrHga &1 &g (0, 0) | & 3R aa

e aw, o W R | afe g defga
(3, 2) K (1, 6)F IoRAT § A THH
JechgdT T € ?

()
(b)

(©)

& NE&: & NG

(d)



§5.

57.

If 1+2(sinx + cosx)(sinx—cosx)=0
where 0 <x <360°, then how many
values does x take ?

(a) Only one value
(b) Only two values
(c) Only three values

(d) Four values

. Consider the following statements in

respect of the line passing through
origin and inclining at an angle of 75°
with the positive direction of x-axis :

1. The line passes through the point

(55)

2. The line entirely lies in first and
third quadrants.

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

If P(3,4) is the mid-point of a line

segment between the axes, then what is
the equation of the line ?

(@ 3x+4y-25=0
(b) 4x+3y-24=0
(c) 4x-3y=0

(d 3x-4y+7=0

21

58. The base AB of an equilateral triangle
ABC with side 8 cm lies along the
y-axis such that the mid-point of 4B is
at the origin and B lies above the
origin. What is the equation of line
passing through (8, 0) and parallel to
the side AC?

(@) x—3y-8=0
(b) x+3y-8=0
) V3x+y-8J3=0
@ Bx-y-83=0

59. The centre of the circle passing
through origin and making positive
intercepts 4 and 6 on the coordinate
axes, lies on the line

(@ 2x-y+1=0
(b) 3x-2y-1=0
(c) 3x-4y+6=0
(d) 2x+3y-26=0
60. The centre of an ellipse is at (0, 0),
major axis is on the y-axis. If the

ellipse passes through (3, 2) and (1, 6),
then what is its eccentricity ?

V3

(a) 2

)

(b)

()

lem

&

(@

A - DFRG-S-MTH



61.

62.

T gHEg e @ @ wEe
x? =3y & @i =@ WER dEr T
®, stet frye 1w o, waerm & o
R &1 AR p 3@ P o o B
arg 3R g e §t @ ' @
fraffea A A d-aradt ¢ ?

(@ p=gq

() p=+3

€©) p=23q

@ 2V3p=¢

fag 42, 4, 6), B(-2, -4, -2), C(4, 6, 4)
IR D@, 14, 12) | fEr Hifvg |
frafafea st § @ Sa-ar/aF7-3
T R/R?

1. ¥ forg sma@ ABCD & o € |

2. AC %1 ®eAfag, BD & weAfeg &

T R
49 i T F¢ F1 vEm W TE TW
ﬁﬁl’Q:
(a) o
(b) Haw 2
(¢) 1323t
(d 1,782

. T& T & qHIER

R+P+2 _4x—6y-82-16=0 W

frar Sty | R # & Ae-a/

- T wE /% ?

1. T8 Tl z-37& S w3 &ar € |

2. 0 T 1 hg wHAA
x+y+z-9=0R @@ R |

DFRG-S-MTH - A

22

65.

A fag
qfir :

(a) a1
(b) e 2
() 13R23mt
(d AA1,TE2

T FE H WA IR TE TN

. U& gaw, fRews et w2, 2, 1

-GS ST § | T GHAS & Al
# feFprsaTd (direction cosines) FT
g7

(a) <273, 2/3, 1/3>
(b) <173, 2/3, 2/3>

© {(F.F.%
@ (F. %5
Frafafea waai w fer Hiftg -

1. y-3g1 & fegeruma <o, 4, 0> 7
Thd

2. 2298 R W& W@ & fgegua
<5,6,0>€im§

I # ¥ HN-°T /-8 FAT el
/R ?

(a) % 1
(b) *ae 2
() 1323t
(d I 1,782



61. An equilateral triangle is inscribed in a Select the correct answer using the

parabola x2 =43 y where one vertex of code given below :
the triangle is at the vertex of the

parabola. If p is the length of side of (@) 1 only

the triangle and ¢ is the length of the

latus rectum, then which one of the (b) 2 only

following is correct ?
(c) Both 1 and 2

(@ p=gq
(d) Neither 1 nor 2
(b) p=+3q
(©) p=2\/§q 64. A plane cuts intercepts 2,2, 1 on the
coordinate axes. What are the direction
@) 23p=g¢ cosines of the normal to the plane ?

§ ; (a) <2/3, 2/3, 1/3>
62. Consider the points 4(2, 4, 6),

B(-2, -4, -2), C(4, 6, 4) and (b) <173, 273, 2/3>
D(8, 14, 12). Which of the following
statements is/are correct ?
. | © (&h
1. The points are the vertices of a
rectangle ABCD.

@ &k

2. The mid-point of AC is the same
as that of BD.

3 i lowi 3
Btk the ook diwit: uking the 65. Consider the following statements

code given below : 1. The direction ratios of y-axis can

(a) 1 only  be <0, 4, 0>
(b) 2 only 2. The direction ratios of a line
perpendicular to z-axis can be

(c) Both 1 and 2
(d) Neither 1 nor 2

<5, 6, 0>

Which of the statements given above

63. Consider the equation of a sphere is/are correct ?

2+ +22-4x-6y—82-16=0.
Which of the following statements
is/are correct ? (b) 2 only

(a) 1 only

1. z-axis is tangent to the sphere.
(c) Both 1 and 2

2. The centre of the sphere lies on
the plane x+y +z-9=0. (d) Neither 1 nor 2

23 A - DFRG-S-MTH



66.

67.

68.

PORS T THick St & | afe PR=a
#R 0S=5p & & PO fored axrax & 7

(a) a+b
®) a-b
© a;—b

a-b
@ =5

A AT 7 @K b D W T wRey
% 5 3+2b IR 55-4b v ¥ 17 IR
bydam A e ?

(a)

CNE]

(®)

NN

(©)

w|y

@ 7
A T 7, b AR ¢ UE B g W
e s afewr € 1

{[33+z§]x[sz-4z]}.[z+zz)
frad e 2 7

(a) -8

(b) -32

© 8

@ 0

DFRG-S-MTH - A

24

69.

70.

71.

x% 3 I9-8 79 §, e fog afew
2331 43xf+k IR I-2/+x%
& e @ o st @ @ 7

(@) 0<x<2

(b) x<0

(€) x>2

(d 0sxs<2

P 4BC & s 4, B 3k C &

feufa afew s f4+ &, 374 /+5k ok
3743k € | o1 C frad swR # 2

(@)

z
6

(b)

z
4

(c)

z
3

(@

z
2

7 Y z=[y] W y=[x]-x B
Sl [] WewH Ui e @ | AR x
quifes el & dAfh ST §, @ z T
AA TR ?

@) -1
() 0
(© 1

d 2



66. PORS is a parallelogram. If PR=a 69. What are the values of x for which the

i p | angle between the vectors
and QS =b, then what is PQ equal J & L ey e T
2x“1+3xj+k and i-2j+xk

to ? :
is obtuse ?
), 20 @ 0<x<2
(b) a-b () x<0
© a;b (©) x>2
(d 0=sx=2
@ a-b :
2 70. The position vectors of vertices 4, B
¥ and C of triangle ABC are respectively
67. Let @ and b are two unit vectors such J+k, 3;-‘_,_}‘_,_5}; and 3}-‘+3§_ What is
that 2+2b and 5a—4b are perpendi- angle C equal to ?
cular. What is the angle between a 2
and b ? () 6
@ % n
6 () 7
n
® 7 A
© 3
n
(c) 3
n
z ¥
@ 3
ik " 71. Let z=[y] and y = [x] — x, where [.] is
68. Let a, b and ¢ be unit vectors lying i i y=lx L]

. What i the greatest integer function. If x is not
on the same plane. What is an integer but positive, then what is the

= . b d — -3 = ?
{[3a+2b)x[5a—4cj}-[b+2c) value of z

equal to ? : @ -1
(a) -8 (b) 0
?3 ;32 © 1
d 0 d 2
25 A - DFRG-S-MTH
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72. 3R f(x)=4x+1 3R g(x)=kx+2 T
W%ﬁ?fog(x) gof(x)%,??fkiﬂ

qH MR ?

@ 7

(b) 5

(c) 4

@ 3

73. & f(x) = logyo(x% + 2x + 11) &1

AT A TR ?
(@ 0

(®) 1

(© 2

@ 10

74. [ (x*)*(1+ Inx)dx FoFed R ® 7
(@) xF+c
(b) -21~x2‘+c
(c) 2F+c

@ yx*+e

75. [ & {1+ Inx + xinx}dx Feh sRmaR & ?

(@) xe*lnx+c
(b) x%tInx+c

(c) x+eflnx+c

(d) xe*+Inx+c

DFRG-S-MTH - A

26

76. Igcosx)ls—(smx)lsdtw% ?
\{smx “COSX

(a) +sinx —+/cosx +¢
(b)

sinx +4/cosx +¢

(c) 2+sinx +2+/cosx +¢

(d) %«/sinx + %—«\/cosx +c

77. 3R} y=2‘———‘“‘22“6—8m|x+~!x2—16|
2, A L fords e @ 7

@ xx-16
® x-V¥-16
© Vx*-16
@ 4Vx*-16

78. 3R y=(yF B, @ Frefafea F 3
-9 FG9 del & ?

(@) %+.1y(1+21nx) =0

(b) %—Ay(l-f-Zlnx):O

(c) %—— 2xy(1+Inx)=0

d %+2xy(1+lnx)=0



72.

3.

74.

75.

If f(x)=4x+ 1 and g(x) = kx + 2 such
that fog(x) = gof(x), then what is the
value of k ?

@ 7

(®) 5

(c) 4

d 3

What is the minimum value of the
function f(x) = logo(x*+ 2x + 11) ?
(@ O

®) 1

© 2

(d) 10

What is [ (+*)%(1+ lnx)dx equal to ?
(@) xF+c

(b) 3 +c

(c) 2¥+c

@ Zx“+c

What is j ¢* {1+ Inx + xInx}dx equal
to ?

(a) xéflnx+c
(b) x%e’Inx+c
(c) x+éflnx+c

(d) xe*+Inx+c

76.

71.

78.

) (sinx)"s
sinx-cosx

What is [ ook dx equal
to ?

(a) Jsinx —+/cosx +¢
(b) +/sinx ++/cosx +c¢

(c) 2+/sinx +2+/cosx +c

(d) %Jsinx +%Jcosx +c

2
NX 16
3 8In

x+Vx2-16

then what is % equal to ?

@) xV¥2-16
®) x—Vx2-16
© Vx*-16
@ 4x*-16

If y=

|

If y=(x*)", then which one of the
following is correct ?

(a) %+xy(1+2!nx) =0

(b) %—xy(l+2!nx)=0
(c) %—ny(l+lnx)=0
(d) %+2xy(l+lnx)=0

A - DFRG-S-MTH
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79.

80.

81.

82.

3(sin x — cos x) + 4(cos>x — sin’x) &

st T w1 @ ?
(@ 1
®) 2
© 3
@ 2

y=V1-2%, y=x 3R y=0gr afag
& &1 She (WOW Sqaty #) wr R ¢
(a)

z
4

(®)

z
6

(©

0|y

@ 5

x—|y|=03KR x-2=0%R oiag &=
& AR TR ?

@ 1
(b) 2
(c) 4

@ 8

afe fl@)=ysec’a—1%, @

f(@)+f(B)
=T @@ T et

DFRG-S-MTH - A

28

@ fla-p)
(b) f(e+p)
© f(a)f(B)

@ f(aB)

LR f(x)=In(x+V1+x2) &, @

frerforfea 3 @ A-m R & 7
@ f&)+f(=) =0
®) f&) - fx) =0

@ Y@ =)

85.

X
; I—)z

(@ f(x) =2f(=x)

. lim = foras s £ 2
x—0 31 —cosdx %

it
(a) 2‘\/5

o
(b) W,

(c) V2

(d) @ sferea 79 &

4x-21m

lim foras s ® 2

(a) -4
(b) -2
{e) 2

@ 4



79. What is the maximum value of
3(sin x — cos x) + 4(cos’x — sin’x) ?

@ 1
(b) 2

(c) V3
@ 2

80. What is the area of the region (in the

first quadrant) bounded by y = Vi-x2,
y=xand y=0?

@ 7

Y4
®) &
© %

@ {5

81. What is the area of the region bounded
by x-|y|=0and x-2=07?

(a) 1
(b) 2
(c) 4

(d) 8

82. If f(a)=+sec’a—1, then what is

fl@)+ f(B)

i—f@7@ e’

29

85.

@ fla-B)
(b) f(a+p)
© f(a)f(B)
@) f(ap)

JIf f(x)=In(x+1+x2), then which

one of the following is correct ?
@ f&)+f(=x)=0

®) /&) -f(x)=0

© 2f(x) =f(=x)

(d) fx)=2f(=x)

. What is lim : ual to ?
.:—mql—coséix -

PR o
® 35

Lak
(b. 242

) 2

(d) Limit does not exist

What is lim % equal to ?

I
I-—)z

(a) -4
(b) -2
(c) 2
(d 4

A - DFRG-S-MTH



2 :
86. ‘T&f(x)=$|ﬂ g ar lim £ (x) 89. afe y=m2[x§:”:) L Ax=0W
x= X +x+
foras R 2 ? -

dy
ol + foras e ® ?
®) 1 (a) -2
(b) 0
2
© © 1
(d) mf(xmsrf@ﬁwﬁ% @ 2
 sin?(x + k) - sin’x d1+x%+x8
87. lim z e s 90.uﬁz(l_x2+x4J=ax+bx3 g
?7? feaffm i d s-aradt & 7
(a) sin’x (@) a=b
(b) cos?x (b) a=2b
(c) sin2x (c) a¥b=0
(d) 2a=b
(d) cos2x
91. frafafas & ¥ e wiey & afw
88. WA Y f(x) TF UaT wew & T ®e f(x) = (psecx)? + (g cosecx)?
) = gx) I f'x) = —f(x) ¥ W AT A AT B R ?
A T h(x) = {£(0)}2+{g(x)}? ¥ | @) tandrwd
frafafea suAt w R it 4
1. K3) =0 ®) cot’x=7
2. k(1) = h(Q2) (c) tanx=pq
d) cotlx=
IEE # A IH-G1/I-4 FIT qEl ()coxpf
R/%? 92. Bl f(x)= 3. (x—j)* & T AW
Jj=1
(a) &ae 1 ' FET AT BT § ?
(b) Fae 2 (@ x=35
(b) x=4
() 1323 & ks
(d AAML,A82 @ x=5

DFRG-S-MTH - A 30



2
86. If f(x)=%|5|, then what is

Iin:) f(x) equal to ?
(a 0
(b 1
o) 2

d) i d t exist
(d) x‘_',”of(x) oes not exi

sin?(x + h) —sin’x

h

87. What is lim
h—0
to ?

(a) sin?

x
(b) cos’x
(c) sin2x

(d) cos2x

88. Let f(x) be a function such that

fx) = gx) and f"(x) = —f(x). Let
h(x) = {f(x)}? + {g(x)}%. Then consider
the following statements :

1. A’(3) =0
2. h(1) = h(2)

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

31

2
89. If y = znz[;+—;::] , then what is %
at x =0 equal to ?
(a) -2
(®) 0
(c) 1
d 2

[1+x“+x8

90. 1f L 4)=ax+bx3, then

dx{ 1-x*+x
which one of the following is correct ?
(@) a=b

(b) a=2b

(c) a+tb=0

(d) 2a=b

91. Under which one of the following
conditions does the function

f(x) = (p secx)?+ (g cosecx)?
attain minimum value ?

(a) tan’x=

ESTEN

(b) cot’x = %
(c) tan’x=pq
(d) cot’x=pq

92. Where does the function

f(x)= fl(x-f)z

attain iglminimum value ?
@ x=35

(b) x=4

(c) x=45

(d x=5

A - DFRG-S-MTH



93.

9%4.

95.

Wf(x)={|x]+11, 0<lx|=<3
? x=0
F wed # frafafes w9t w e
$ifeg .
1. o 1 Siftrenaw wW ¥FEE x =3
R W B # |

2. 5 W WA FqqH (S
fuftrm) Faa x=0 ) wra B
21

I # § HN-G1/FH-Y F99 wE

R/%?

(a) %ad 1

(b) Faw 2

(¢) 13K 23t
(d Ad 1,782

I;In(%—l)dr fore a7

(@ -1
(b) 0
© 1
d) In2

af: j:’z(sin“ncos“x)dx:k g @
J-ozo:r (sin*x +cos*x)dx & WH T § ?
(a) k&

(b) 10k

(c) 20k

(d) 404

DFRG-S-MTH - A

96.

97.

/2
-1/2

foreres e & 2

(e *sinx+ "™ * cos x)dx

(a)

®) £*

© l1-e
(@ 0
2+ =n2 y=sinx IR x=0

SR waw =gty # ufag & & Sowe
TR ?

(@

INEN
l

I
(]

(b)

(©)

o S R LW
|

|
[

(d

98. frmferfaa Faat w famr Hiftre

1. awe FHIEHOT %H:os(—?—x):O

wWEUT 1? |
2. Jahd GHIEHOT

[%JZ cos(%) =0

Hfrafe 28 |
SUgth # A FH-91 /-] T qE
/%7
(a) wae 1
(b) & 2
(c) 13R 2t
(d IR 1L,T82
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93. Consider the following statements in

94.

9s.

respect of the function
|x]+1, 0<|x|<3

f(x)={ gt

1. The function attains maximum
value only at x=3

2. The function attains local mini-
mum only at x=0

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

What is ﬁhx(%—l)dx equal to?

(@ -1
() 0
© 1
@) In2

If _[:;2 (sin4x + cos4x)dx = k, then what
is the value of J':o" (sin®x + cos*x)dx ?
@) k

®) 10k

() 20k
(d) 40k

/2 y ;
96. What is .[_,; & (€*®*sinx+ €*"* cosx)dx

equal to ?

(a)

(b) e“+1

(c) l-e
(d o

97. What is the area of the region enclosed

in the first quadrant by x2+y?= 72,
y=sinx and x=07? '

(@) "73—1,
® Z-2
© Z-1

n
(d) T“z

98. Consider the following statements :

1. The degree of the differential

vy &y, 4
equation dx+cos(a’x)_0 is 1.

2. The order of the differential equa-

3
2
? d’y dy i
tion (dxz) +cos(dx 0 is 2.
Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A - DFRG-S-MTH

Downloaded from www.cclchapter.com



99. ¥eferg W WY 3R GATHF y-IA R AT 102, 1 ¥ 50 7% A Ayt weansit i g A

T AT % G I FHE T WIS GO B & il w4 R 7
TR ? '
@ 5
(a) x%+2y'=o
17
(b) 5%
) x2-2y=0 25
18
dx 2 (c) e
© y$+2x-0 25
33
dx ks @ =
@ y—a;—Zx-o 50
100. srEF it 103.7R n> 7%, @ % Wit & 5 730
(dy — dx) + cosx(dy +dx) =0 T C(n,7) & ?
F R T ? @ 0
(a) y=tan(%)—x+c (b) %
(b) y=%tan(-;-)-x+c © %

(©) y=2tan(%)—x+c @ 1

104. 799 10 &9Y0F GEATH & oI H q

R wEAN x 3R y ageEAr T A E |
w1 it & o6 4% (x+y) WA # 2

@ y=tan(§]-zx+c

101. 9 e x waw n gAqel desit

F @ W W { R y WA p el (a)%
st ¥ wer @ ow g afe

=33
S=ptanmaREnY 2 ®) %
(@ 24
() 25 © =
(c) 27 ' :
(d) 30 @ 75
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99.

100.

101.

What is the differential equation of the
family of parabolas having vertex at
origin and axis along positive y-axis ?

(a) x%+2y=0

(b) x%—2y=0

© yE42x=0

dy

@ y%E_2x=0

5 &
What is the solution of the differential
equation (dy — dx) + cosx(dy +dx)=07?

(a) y=tan(%)—-x+c

) y=tan(§)—zx+c

Let x be the mean of squares of first n
natural numbers and y be the square
of mean of first » natural numbers.

If X_SS

e
of n?

(a) 24
(®) 25
(c) 27
(dj 30

then what is the value

35

102. What is the probability of getting a

composite number in the list of natural
numbers from 1 to 50 ?

@ 10
(b) 33
©) 75

@ 3

103. If n> 7, then what is the probability

that C(n, 7) is a multiple of 7 ?
(@ 0

~J|—

(®)

© 3

@ 1

104. Two numbers x and y are chosen at

random from a set of first 10 natural
numbers. What is the probability that
(x + ) is divisible by 4 ?

(@) %

O

(b)
© 75

@ 73
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105. 99 n €Y TG A ¥ TH WA x

106.

107.

Frgoal I St ® | wilen € 6
o e x+1>2 W wye wh
7

@ =

1
®) @n
@ &b

@ 1

M Imfima gEl (¥R IEE) B
TR IV AT R | Fa Wi @ fe
I R St fm-fir deam wefifa & €,
J FiR Wit (4P)H € ?

@ 15

®)

%o~

© 3¢
(d) b7

af} P(4)=0-5, P(B) = 0-7 3R
P(ANB)=03 &, @

P(ANB') + P(ANB) + P(ANB’)
FHA TR ?

(a) 06
() 07
(c) 08
(d) 09

DFRG-S-MTH - A
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108. 99 fraet & U SR IS ST )

e ¥ afte W) v (39) s H
wifean w1 § ?

(a)
(b)

©

ol - T <

_—
(="
—

109. T IAPFa TR (¥R IEW) Hk o

& e (@) 15T 15 ¥ At
I & wrfrerar T ® 2

110. U% =afth & @& g A wildwar 0.5

R 14wt (i) F w0 ¥ w0 uw a9
Ve (fe) H vl = & 2

@ 3

(®)

I~ i

_—

(="

A
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105.

106.

107.

A number x is chosen at random from
first n natural numbers. What is the
probability that the number chosen

satisfies x+%>2 ?
@ 1
o 18
(b) (2n)
©) Q%ll

@ 1

Three fair dice are tossed once. What is

the probability that they show different
numbers that are in AP ?

@ 15

®) 1g
© 3¢

@ =5

If P(4) = 0-5, P(B)=0-7 and
P(ANB) = 0-3,

then what is the value of
P(ANB") + P(ANB) + P(ANB') ?

(a) 06
(b) 07
(c) 08
(d) 09

37

108. Five coins are tossed once. What is the

probability of getting at most four
tails ?

(a) %

®) 1

© 2

@ 5

109. Three fair dice are thrown. What is

the probability of getting a total greater
than or equal to 15 ?

19
@ 576

®) 15

© 3¢

@ 2

110. The probability that a person hits a

target is 0-5. What is the probability of
at least one hit in 4 shots ?

@ 3

(®)

ol

_—
e
N[

o~

o

S
oo~
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111.

112.

113.

w e & 2 W% g, 3 @l i 3k 4
T e € R H A 3N e F
fram % € el o0 @ a9 wF g
St B 7

(a) 84

) 72

(c) 64

(d) 48

Jg & TRM T w5l amn | 3| 5
¥ ¥ UF S @ T AT | FT Wi
{6 5% A 3 3 e Pl R 2

16

@ &5

32

®) &5

64

© &5

128

@ 625

52T F 9 H RE H ¥ T AW A
T e S R | @ SRR s
@ 6 7% @1 O O g @ i @
TN TF T R | IEF Siaw e
et 2 2

(@ 9:4

(b) 33317
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114.

115.

&) -17:35

(d 4:9

=t 100 St & ww T & fog
fare & @ ofy ok ool &t St F
a9 wggey UG 0-7 IET AT | HH
e T it SIS sA-aa faae $
T T B e S ) § | T
¥ 99 U9 W HEEaY 0N F4T SN ?

(@ 1
(®) 09

(¢ 07

(d 03

T ¥ o Rt P a7 ¥ w@
T AR D G B v H
Wit 06 % | af A egaw wE
ot 2 @ Pl W@ F @ e B
wifEaT 0-85 , 3R TEa™ & TR TY
fmin & w9 ® @@ W N
wiRERar 0-35 ® | ¥ Wik ® 6
frmfor &1t w7 R 1w & an@n ¢

(@) 0-35

- (b) 045

() 055

(d) 0-65



111.

112.

113.

A box contains 2 white balls, 3 black
balls and 4 red balls. What is the
number of ways of drawing 3 balls
from the box with at least one black
ball ?

(a) 84
(b) 72
() 64

(d) 48

During war one ship out of 5 was sunk
on an average in making a certain
voyage. What is the probability that
exactly 3 out of 5 ships would arrive
safely ?

@ &5
®) &35

(© 25

128
d) &35

A card is drawn from a pack of 52
cards. A gambler bets that it is either a
spade or an ace. The odds against his
winning are :

(a) 9:4

(b) 35:17

39

114.

(c) 17:35

) 4:9

The coefficient of correlation between
ages of husband and wife at the time of
marriage for a given set of 100 couples
was noted to be 0-7. Assume that all
these couples survive to celebrate the
silver jubilee of their marriage. The
coefficient of correlation at that point
of time will be

@ 1

' (b) 09

115.

) 07

d 03

The completion of a construction job
may be delayed due to strike. The
probability of strike is 0-6. The pro-
bability that the construction job gets
completed on time if there is no strike
is 0-85 and the probability that the
construction job gets completed on
time if there is a strike is 0-35. What is
the probability that the construction job
will not be completed on time ?

(@) 0-35
(b) 045
(c) 0-55

(d) 065
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A (02) v & forw Freafafem w
ﬁ?ﬁaﬁﬁm:

ot e & 509 gRT 4 a3 v st
& W 3R 7w e (SD) R fiw o
g

Fraa | nftra | Wil | omaw | ofte
s | s

AT 3 40 28 38 36

e T

(SD) 15 12 14 16

116. Fafafaa & ¥ g v & st =
gatfire famror € 2

(a) wfora

o) s

(c) Tom famm
(d) e famm

117. o # it o Foror Tqories = @ 2
(a) 37-5%
(b) 38-0%
(c) 385%

d) 39-0%

DFRG-S-MTH - A
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F W\ (03) wE F fow Feafafae w
fomm &ifSrg

Frafafes wffga IRarar @7 | @™
g

=it

0-10 [ 10-20{20-30( 30-40|40-50 | 50-60

w1l 214l 6 F 40 3

118. seq it wifere (Hifegw) = & 2
(a) 34

(b) 345
© 35

(d) 355

119. wifeie & ame wreg famem wr @ 2
(a) 114
(b) 11-1
(c) 108
@ 105

120. A1E7 & qE A1eq fmem @ @ 7
(a) 10-15
(b) 1065
(© 11-15
(d) 11-65



Consider the followihg for the next two (02)
items that follow :

The mean and standard deviation (SD) of
marks obtained by 50 students of a class in
4 subjects are given below :

Subject | Mathe- | Physics | Chemistry | Biology
matics

Mean :

Macks 40 28 38 36

SD 15 12 14 16

116. Which one of the following subjects
shows highest variability of marks ?

(a) Mathematics
(b) Physics
(c) Chemistry

(d) Biology

117. What is the coefficient of variation of

marks in Mathematics ?
(a) 37-5%
(b) 38-0%
(c) 38:5%

d) 390%

41

Consider the following for the next three
(03) items that follow :

Consider the following grouped frequency
distribution :

Class | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
Frequ-
ency 1 4 4 6 -4 3

118. What is the median of the distribu-
tion ?

(a) 34
(b) 345
(c) 35
d) 355

119. What is

median ?
(a) 114
(b) 11-1
(c) 10-8
(d) 105

mean deviation about the

120. What is the mean deviation about the

mean ?

(a) 10-15
(b) 10-65
) 1115
(d) 11-65
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